

$$f = \{(r, r)(n, \infty)(r, h^r, n)(m, r)(-b, r)\} \rightarrow h^r, n, r \rightarrow h^r, n, r, \infty \Rightarrow (h-r)(h+1) \rightarrow \boxed{h, r} \quad h, r, 1 \quad \infty$$

$$\overline{m, r}$$

ب) $f = \{(-b, 1)(r, r)(r, r)(\alpha, m-1)(\alpha + b, h)(m, r) \rightarrow m, r \quad m-1, r-1, 1 \quad \alpha, -1$
 $\alpha + r, -1 + r, 1 \rightarrow \boxed{h, r}$

$$f(n) = \begin{cases} r_{n-1} & n \geq 1 \\ n + a & n < 1 \end{cases}$$

$r_{n-1} \rightarrow n-1 \rightarrow r$
 $r_{n-1} \rightarrow n, r \rightarrow \infty$

$\rightarrow n + a \leq r \rightarrow n-1 \rightarrow 1 + a \leq r \rightarrow \boxed{a \leq 1}$

$$f(n) = \begin{cases} r_{n-1} & n \geq 1 \\ a + n + a - 1 & n < 0 \end{cases}$$

$r_{n-1} \rightarrow n-1 \rightarrow r$
 $r_{n-1} \rightarrow n, r \rightarrow \infty$

$n \rightarrow a-1 < r \rightarrow \boxed{a \leq r}$
 $a \in (-r, r)$

الف) $y, n^r, r \rightarrow$

ب) $n^r - \varepsilon_{n+r} \rightarrow \left| \frac{-b}{r_n} \cdot \frac{\varepsilon}{v} \cdot r \right|$
 $\varepsilon - 1 + r, -1$

$y, \frac{r_{n+1}}{n-r} \rightarrow$

$n, \frac{r_{n+1}}{y-r} \rightarrow y, \frac{(-r, n-1)}{n-r} \rightarrow \boxed{\frac{r_{n+1}}{n-r}}$

$$y = \frac{x+1}{x+2} = \frac{r(1+k)}{1+k} = 1 \rightarrow y=1$$

$$y = \sqrt{x-1} \quad x-1 \geq 0 \rightarrow x \geq 1$$

$$x = \sqrt{y+1} \rightarrow x^2 = y+1 \rightarrow y = x^2 - 1$$

$$y = x^2 - 1 \quad \left| \begin{array}{l} \frac{dy}{dx} = 2x \\ y = x^2 - 1 \end{array} \right.$$

$$y = x^2 - 1 \rightarrow y = (x-1)^2 - 1$$

$$y = \sqrt{x+1} + 1$$

$$f(x) = \sqrt{x+1} + 1 \rightarrow f(x) = \sqrt{x+1} + \frac{1}{x} \rightarrow y = \sqrt{x+1} + \frac{1}{x}$$

$$a = 1, b = \frac{1}{x}, c = -\frac{1}{x} \rightarrow a + b + c = 1 + 1 - 1 = 1$$

$$y = \frac{x}{x^2-1} \quad f(x) = \frac{x}{x^2-1} \rightarrow \frac{1}{x^2-1} = \frac{1}{x^2-1} \rightarrow \frac{1}{x^2-1} = \frac{1}{x^2-1}$$

$$f(x) = \frac{x}{1+|x|} \quad g(x) = \sqrt{x-1} \rightarrow \frac{x}{1+|x|} = \frac{x}{1+|x|}$$

$$x = \frac{1}{1+|x|} \rightarrow x = \frac{1}{1+|x|} \rightarrow x = \frac{1}{1+|x|}$$

$$f(\bar{n}), \sqrt[n]{n-1} \quad g(n), f(n) + \sqrt{f(n)}$$

$$y \cdot \sqrt[n]{n-1} \rightarrow n \cdot \sqrt[n]{y-1} \rightarrow n^n \cdot y-1 \rightarrow y \cdot n^{n+1}$$

$$g(n), n^{n+1} + \sqrt{n^{n+1}} \quad g^{-1}(n) = 12$$

$$\sqrt{n^{n+1}}, z \rightarrow z^2 - z = 12, \quad z^2 + z = 12, \quad (z+8)(z-3), \quad z = -4, \quad z = 3$$

$$\sqrt{n^{n+1}}, p \rightarrow n^{n+1}, q \pm 3 \quad n^{n+1}, 1 - \sqrt{n+2}$$

به غیر قابل تبدیل